CBSE Class 12 Mathematics (For Visually Impaired) Compartment Question Paper 2022 (August 23, Set 4- 65/B/6)
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1. = 39%hd GHIRT okl A9k & 3(Td <hI9T 2
iy — (1 +x2) 1 +y2)
dx
X3
2. () srmeﬁri%m:j\/l _ dx 0
— X
3TqaT
(@) 3Td hINT : I(X+1)2 2

3. 52 Udl sl I=B] YR H Bl Mg a1 hl TE H U Argeadl o
TFETIHT o 2 U HehTel T | SH1 U1 o Ueh &l TT b 8 hl Tkl
T it | 2

4. TH I H 2Hhg, 2 A d1 3 Hicdl g 3 | I H H Argosdl Th-Uh
$leh JIAEATIHT | &l TIq THehleil T8 | T%e Tigl shl &A1 bl JTRIhdl

¢4 HTd shilolu | 2
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General Instructions :
Read the following instructions very carefully and strictly follow them :

(1)  This question paper contains three sections — Section A, B and C.
(i) FEach section is compulsory.

(i11) Section A has 6 short answer type I questions of 2 marks each.
(iv) Section B has 4 short answer type 1l questions of 3 marks each.
(v) Section C has 4 long answer type questions of 4 marks each.

(vi) There is an internal choice in some questions.

(vit) Question no. 14 is a case-study based question with 2 sub-parts of
2 marks each.

SECTION A

Questions number 1 to 6 carry 2 marks each.

1. Find the general solution of the differential equation : 2
Vo @ +x) 1+
dx
X3
2. (a) Find: J‘ dx 2
\/ ] —x°
OR
(b) Find: I X dx 2
(x+1)

3. Two cards are drawn at random without replacement from a
well-shuffled deck of 52 playing cards. Find the probability of
oetting both cards of the same colour. 2

4. A bag contains 2 white, 2 red and 3 blue balls. Two balls are
drawn at random from the bag one-by-one with replacement.
Find the probability distribution of the number of white balls. 2
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6. U Y@ et afew e T o= (1- )5 + @h—1)] + @1 + 3k
2, % fgp-hiETed JTd shilvT | 2

dJqus 9

JoT G 7 G 10 TF I I T97 F 3 HFH & /

7 trmmaiﬁq:f %+ 92| dx 3

(x cos?2(y/x) —y)dx + xdy =0
1 faf3re &« 71a *Ilﬁq,ﬁmw%%y=£%,?ﬂx=1% 3

JUqdT
(@) 3Tdehct AHIHLT
dx
(X +y) — =
! SAT9%h B 3Td <hiaiU | 3
; A —> A A
9. gl ? = /1\ + 2] + 412, b = — 2/1\ + 3] + 2k QU1
A —> —>
C=2t 420 43k FRIW A b x ¢ M () 2. (b x ¢)
Td <hIToIT | J

10. (%) Teigati A(-1, 3, 2) q1 B(— 4, 2, — 2) ¥ §Ieh A dTcil 1@
QI o hIdig FHIHWT [1d shitWY | I fog P(5, 5, A) T&T AB

T TEId 8, a1 A 1 HF HI JTd shitoiu | 3
HAAT
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Find the value of A for which the vectors a + b and a — b
N\

are perpendicular to each other, where a = 2/i\ - 3\ + Ak and

—> A A A
b =31+)-2k.

Find the direction cosines of a line whose vector equation is

. — A A A
givenas r =(1-M)1 +2r-1)] + (2L + 3)k.

SECTION B

Questions number 7 to 10 carry 3 marks each.

65/B/6

4

Evaluate : J. X + 2| dx
—4

(a) Find the particular solution of the differential equation :

(x cos? (y/x) — y) dx + x dy = 0, given that y = " whenx=1.

4
OR
(b) Find the general solution of the differential equation :
(X + V) X =1
dy
—> A A A D A A A
For vectors a =1 + 2] + 4k, b =-21 + 3] + 2k and

— A A A . . -7
c =21 +2] +3k, determine (1) b x ¢ and hence

(11) a. (T; X ;)).

(a) Find the vector and the cartesian equation of the line
passing through the points A(- 1, 3, 2) and B(- 4, 2, — 2).
Also, find the value of A, if the point P(5, 5, L) lies on the

line AB.
OR
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(@) = @3l o = bl =Aad gl 31d AT - 3

—> A AN AN A
r =(1+2)] +k)+A(1 —3 + k)dAl

— AoA A AA A
r =21 -3 —-k)+u?21 +3 +2k).

©ug 1]

9T eI 11 T 14 T I IF Jo7 4 IF & |

X
e WW.J‘(X+2)(3_2X)dX ?

2

12, (%) wweeR % SEm @ e ;‘Zﬂ _ B x = 0 af

9
x = 2.5 §I9 ER &, T &% JTd hiT | 4
3T
(@) GHIRAT b FINT A dh y> = 4x b DT x =1 AL x =4
st feR &1, o1 &% JTd hifoig | 4

. fiestt P4, 3, 4), Q(5, 3, 1) @ R(7, 6, 2) ¥ Bet S aTel THA I
HHIHTOT 1 HIT | 3F: $0 FHaA h1 qA-16G W g 1 1 Hiw | 4

14. T Hhell o 5% TAShl a1 10% TeihAl &l 1Q, 150 & 3Af4sh 7 | 30
el H, 60% Torenei gk 8 | el § ¥ Irgeeadl Tk foamefi IH1 Sl
g |

39YTh & AU W,
() = T fa=neff 1 1Q, 150 ¥ 37(¢eh B4 bl ITRIhal F1d hilel@ | 2

(@) dfc I8 9 = fob g7 U faeneff &1 1Q, 150 & =AYk &7, d
3Toh Ueh AIgeh! B4 <hl TTRIehdl FTd shiToIy | 2
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(b) Find the shortest distance between the lines : 3

—> A A A AN A

r =(1 +2) +k)+A(1 -3 +k)and
—> AN A AA A

r =21 -] —-k)+u@21 +j +2k).

SECTION C

Questions number 11 to 14 carry 4 marks each.

11.

12.

13.

14.

65/B/6

Find : J' X dx 1
(x +2) (3 —2x)
(a) Using integration, find the area of the region of the
2 2
ellipse }1{6 | yg =1 bounded by the ordinates x=0,x=2. 4
OR

(b) Using integration, find the area of the region of the curve

y? = 4% bounded by the ordinates x = 1, x = 4. 4
Find the equation of the plane passing through the points

P4, 3, 4), Q(5, 3, 1) and R(7, 6, 2). Hence, find the distance of
this plane from origin. 4

In a class, 5% of the boys and 10% of the girls have an I1Q more
than 150. In this class, 60% of the students are boys. One

student 1s selected at random from the class.

Based on the above,

(a) Find the probability that the selected student has an 1Q

more than 150. 2
(b) If 1t 1s given that the selected student has 1Q more than
150, find the probability that the student 1s a girl. 2
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